Residual versus local y

— | ——m— st _physics_5067038_raw_1040001.eventFC_2475.root ss (0,12]

=
ol
|

st_physics_5067038_raw_1040001.eventFC_2475.root ss (12,24]

e (Jme  St_phiysics_5067038_raw_1040001.eventFC_2475.root ss (24,36]

Residualcgcm)

©
=
|

— | =—@m—— st physics 5067038 _raw_1040001.eventFC_2475.root ss (36,48]

0,050 — S S— — — —

SRR T T sy
(TR CIRR R+ L

0,05 L — SRS S SR S —

_0.1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1
60 80 100 120 140 160 180

Fri Dec 3 12:09:20 2004 Local Y




